N 2 0l & AF S E A A
20118 =204 =XHEAMY SE3H &l
FA WSH
M3 ObEGD BRlE MX DEBE D=
tel: SHIE FUE2S =4 (FUHEAY SE3IH) (ehel: =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
wSot 3,160,086 743,326 2,416,760
OtMot Helst & nsad = 3,044,917 641,314 2,403,603
SHIE =XE3 2L (FUHEAY ES3AH) 3,044,917 641,314 2,403,603
=SS8H0 SYHFEI HH 103,802 99,342 4,460
201 B3| 83,802 79,342 4,460
01 AtR 22/t 54,850 54,350 500
Ogt==2H| 45,400
FIUHAE EEH2HE M
300, 000& *30H 9,000
FAHAHE EEME WA 502 %100, 0000H 5,000
= X DEIE SEHEN ME
80& *100, 0000H 8,000
RS OXAM da=X 2
80,0003 *308f A 2,400
SHEXNE Helx==2 30,000& »50CH 1,500
D2l EH F2Y 200,000& x52] 1,000
@ sFet)|, @S, F27Y 1,500
F=X3X etdE2 7L 25,0002 5004 12,500
WSEM ZHe WM 2
10, 000& 2004 2,000
DETN BHO Y 2
20,000& * 1004 2,000
=X 2z LA D
500,000& *1H 500
OS2 5,250
AT BAA DEILX 24U NS
7,000& * 15 502 5,250
o1u=y| 300,000& 14 4,200
02 =234l 28,952 24,992 3,960
OZ232= ¥ HMAl 11,992
DEHE DXN RELS(SI18)
1,750& *5,0000H 8,750
NE=PN 360, 000& +2CH 720
AN RE= 100, 000& 2CH 200
ZIIEAMN =2 50, 000& *2CH 100
S B8 750,980 +2CH 1,502
. NHSXHA 360, 0003 +2CH 720
OAN&EHl Xl 1,000
f&8EH |X4H 500, 000& +2CH 1,000
OXtgttl 12,000
A& S 5,000, 000% *2CH 10,000
ek = Xl 1,000,000 *2CH 2,000
OSYFEX SAAE SAE=H] 3,960




fA: WS
M obxslD WelE MA NESA 2=
tel: SHIE FUE2S =4 (FUHEAY SE3IH) (etel: =3
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
202 O4Hl 20,000 20,000 0
01 =LA bl 20,000 20,000 0
OSE8=EX EMHZ 15,000
OZ2ZF=XE 2R 2MARKX 5,000
SEFTE A 2,870,000 250,000 2,620,000
401 A EHIL 201 2,870,000 250,000 2,620,000
01 Al&HI 2,862,251 248,200 2,614,051
O3ZF=x& FHl ALY
2,870,000,000& *99.73% 2,862,251
03 Al&=ChH| 7,749 1,800 5,949
OZAFXE Hbl A&
2,870,000, 000& *0.27% 7,749
olglgl 24 71,115 291,972 A 220,857
801 OlHIHI 71,115 291,972 A 220,857
01 oil8ldl 71,115 291,972 N 220,857
Oulgldl 71,115
HY2AHH (nsE) 115,169 102,012 13,157
QIAH2AH(NED)(=XEAMY ELE3IH) 115,169 102,012 13,157
QIA2IHI(=TEASES H) 115,169 102,012 13,157
101 Q1 Z4H| 115,169 102,012 13,157
01 = 5,056 5,519 A463
OUSENE(=ZY 48 HAKXE) §2L22=+
= 56,1753 x99 «10& 5,056
03 RIIHAZZ XN E = 110,113 96,493 13,620
OFHX 223 (4Y) 101,061
=2 1,042, 7003 x4« 123 50,050
o402 50,049,600 /127K & «400% 16,684
== 120,000 x4 H 1200 & 5,760
ZAZAH| 130, 000& x4 H+ 1200 & 6,240
AL 2R
6, 1863 x15A1 2t+1 . 5H *4H 1204 & 6,681
S22 74,2323 1. 501 *4H 15 6,681
FHFOHI(L,F4)
1,042,700 »4ZH «120% 5,005
A2 &HH| 49,4883 x4 H «20L 3,960
OF&X 222 4HEE (4Y) 8,552
ZUASREES 101,060,000 *4.5% 4,548
HLAEERES 101,060, 000% *2.54% 2,567
LOoIRIEERE S 2,567,000% *4.78% 123
=28 RE=s 101,060, 000& *1.3% 1,314
OMTHEE 500




